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—What is Area? —AREA IS THE SIZE OF A SURFACE!
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These shapes all have the same area of 9:
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Area by Counting Squares

We can also put the shape on a grid and count the number of squares:
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The rectangle has an area of 15
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What is Area? What is perimeter?

—Area is the surface within the shape. Perimeter is the total distance around ———

How is this different to perimeter? the shape.




Complete the sentences for each shape.

The area of the shape is __ squares.




© S CountingSquares

Complete the sentences for each shape.

i

Can you spot a patterm?

The area of the The area of the The area of the
shape is 12 shape is 9 shape is 20

squares. squares. squares.




Complete the sentences for each shape.

The area of the shape is __ squares.




Complete the sentences for each shape.

The area of the shape is 19 The area of the shape is 16

squares. squares.




Leanna uses her times-tables to count the squares more efficiently.

There are 5 squares in 1 row.

There are 2 rows altogether.

2 rows of 5 squares = 10 squares

Use Leanna’s method to find the area of this rectangle:
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‘ ‘ ‘ ‘ We can count but what else can we do? ‘ ‘ ‘




There are 6 squares in 1 row.
There are 3 rows altogether.

3 rows of 6 squares = 18 squares

We

can

use our multiplication know

ledge

if w

e have reqular

shape!




Spicy: Explain your reasoning. |
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‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Teddy and Eva are measuring the area of
the same rectangle.

S 5 . Teddy uses circles to find the area.
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Estimate how many sticky notes you need to make these shapes? A /.1._\ )
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This is a square sticky note.
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Eva uses squares to find the area.

Whose method do you think is more
| | | | | | reliable?
Explain why.

Which of the two shapes covers most surface?

" | Two children have measured the top of
their desk. They used different sized

squares.
The area of the
How do you know? table top is 6
squares.
Dora
The area of the T~
table top is 9

squares. Alex

Who used the largest squares?
How do you know?
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Whose method do you think is more
Explain why.
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Which of the two shapes covers most surface? ‘ ‘

~ | Two children have measured the top of
their desk. They used different sized
squares.

The area of the
How do you know?

squares.

I+ has a lavger surfoce area. -

The area of the =3
table top is 9
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Who used the largest squares? - hhas comnted Less

How do you know?




